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use ”school.dta”, clear

set more off

/*data generation*/

pctile dcline=linc, nq(10)

list dclinc in 1/10

gen dcinc=1 if linc<=10.48066

replace dcine=2 if linc>10.48066 & linc<=10.718545
replace dcinc=3 if linc>10.71845 & linc<=10.88714
replace dcinc=4 if linc>10.88714 & linc<=11.03268
replace dcinc=5 if linc>11.03268 & linc<=11.10578
replace dcine=6 if linc>11.10578 & linc<=11.19951
replace dcinc=7 if linc>11.19951 & linc<=11.30136
replace dcine=8 if linc>11.30136 & linc<=11.43182
replace dcinc=9 if linc>11.43182 & linc<=11.64658
replace dcinc=10 if linc>11.64658

/*tabulate*/

tabulate school motheduc, chi2
tabulate school motheduc2, chi2
tabulate school lsize, chi2
tabulate school parity, chi2
tabulate school dcinc, chi2

tabulate motheduc dcinc, chi2

/*multinominal logit analysis 00O */

mlogit school motheduc mothemp linc Isize parity totkids female, nolog
base(1)

test motheduc

test mothemp

test linc

test Isize

test parity

test totkids

test female

mlogit school motheduc mothemp linc Isize parity totkids female, nolog
base(1) rrr

predict pl p2 p3

sum pl p2 p3

/*0n*/
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00000000 prtab0 STATAODOOOOOODOOOOOODDO com-
mand 00O findit prtab 000000000 00O0COOOOOOODOOOO
000000 prtab00000000O0DO0O0ODOODOOODOOOODOOOOO

prtab motheduc, outcome(1)

prtab motheduc, outcome(2)

prtab motheduc, outcome(3)

/*graph*/

/*mother’s education on probablity of school choice 00O */

graph twoway gfitci p3 motheduc, clpattern(solid) clwidth(thick)|| qfitci
p2 motheduc,clpattern(dash) clwidth(thick)|| gfitci p1 motheduc, clpattern(tight_dot)
clwidth(thick),

*legend(ring(0) position(7) label(1 ” Gymnasium”) label(2 ”Realschule”)
label(3 ”Hauptschule”)) ytitle(” Probability”)

graph save ”schoolmother.gph”, replace

/*income on probablity of school choice 0O 2*/

graph twoway qfitci p3 linc, clpattern(solid) clwidth(thick)|| gfitci p2
linc,clpattern(dash) clwidth(thick)|| gfitci p1 linc, clpattern(tight_dot) clwidth(thick)

graph save ”schoolinc.gph”, replace

/*relationship between mother’s education and income 00O */

twoway (qfitci motheduc dcing, cleolor(black) clpattern(solid) clwidth(thick)),
ytitle(Mother’s education level in years) xtitle(Income distribution in decile

)

graph save ”educ-inc.gph”, replace

good
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xR 1. BROBFEREFRBROYFHHER

sEon  EBER ESTETT3 FLITOL
BEN BN DSRE BN DSRE =M HgRE A4
7 9 0.701 3 0.237 0 0.063 12
9 51 0.510 21 0.322 17 0.169 89
10 10 0.400 8 0.345 8 0.254 26
10.5 68 0.346 81 0.349 44 0.305 193
11 12 0.294 10 0.347 13 0.359 35
115 28 0.246 36 0.339 53 0.415 117
12 17 0.202 25 0.326 58 0.472 100
13 0 0.130 0 0.287 9 0.583 9
13.5 0 0.102 0 0.263 3 0.635 3
14 0 0.079 3 0.239 6 0.682 9
145 0 0.061 2 0.214 9 0.725 11
15 3 0.046 8 0.190 14 0.763 25
16 0 0.026 1 0.147 11 0.827 12
18 1 0.008 1 0.082 32 0.910 34
199 199 277 675




£2. FAYDERERICETSLEODYMNERE

#ERBHZ %4 : School [ rer z{E

ERER
BEOHEEH 0313 1.367 3.97
BHROERKR 0374 1.454 2.35
Ritih & 0.309 1.362 1.37
RIEEH -0.378 0.685 -0.55
H 4 B L 0.046 1.047 0.3
FEE -0.305 0.737 -1.59
THEAE— 0.148 1.159 0.71
E# -6.414 - -2.74

XLFDaHLh
BEOKEEHR 0651 1.918 8.06
BHOERKRTE 0421 1.523 2.55
RiEtih s 1.566 4.785 55
RiEEH -0.878 0.416 -1.13
H & Iz -0.186 0.830 -1.16
FiEEL -0.229 0.795 -1.11
LI — 0.294 1.341 1.36
E -23.264 - -7.84

Number of Observation 675

LR Chi2(14) 217.39
Log Likelihood -624.14963

School=HBERERELT D





